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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks. 12 9% grI T 1,000 §91 HiftRH ARl
THR—1 15 <% @I T 3,000 Ged b AT B fory e e
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What 1s the difference between Book-keeping and

Accounting ? Discuss the objectives of the accounting. AT ST |
T 27 TS & o & awR W T 501 e Ry |
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Journalise the following transactions in the books of Mr.

Ramesh :

2019
April
1 Ramesh commenced business with ¥ 50,000 cash,

¥ 5,000 furniture and goods worth ¥ 20,000.

2 Opened current account and deposited into bank
¥10,000.

4 Purchased goods from Sohan ¥ 10,000.

5 Goods worth ¥ 8,000 sold to Ratan at 5% Trade
discount and 1% Cash discount. He (Ratan) paid
50% amount in cash.

7  Purchased goods from Mahesh at a list price of
¥ 4,000 at 20% trade discount.

8 Returned goods of a list price of ¥ 700 to Mahesh as
it was defective.

10 Goods distributed by way of free samples of
T250.

12 Paid insurance premium by cheque of ¥ 1,000.

15 Sent an order of ¥ 3,000 goods to Shankar.

20  Paid T 9,920 to Sohan in full settlement.

25 Goods costing T 8,000 was destroyed by fire, but the

insurance co. admitted a claim of ¥ 5,000 only.
Claim amount not received.

27  Give ¥ 501 as a gift to a friend on the occasion of his
marriage.

30  Salary paid % 2,500 and outstanding salary ¥ 500.

(A-25) P. T. 0.
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TIE—2
(UNIT—2)
“Taue g o1 FiEa wmr 72 817 @ Sy | 37 w9
Tarar @ fGaeT B @1 deie 3 e @ SaegE %
qH T
“Trial Balance is not a conclusive proof of accuracy.”

Explain. Discuss the errors that may exist even though the
trial balance agrees.

3R

(Or)
35 & T Telue § UR W@IT, M-8 @Tar 1a forgT
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fergr

(31 9, 2019 )
faweq Ay R )
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3ifem e 6,000
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LR 800
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fafaer @ 1,000
8% gU A1 @1 T 19,000
AP 6,000
45,000
(A-25)
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THIEeH Y ¥ @)
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45,000
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From the following Trial Balance of Ajay, prepare Trading
Alc, Profit & Loss A/c and Balance Sheet :

Balance Sheet
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Credit Balances Amount

®
Capital 9,500
Provision for Bad Debts 2,800
Creditors 2,400
Outstanding Salary 300
Sales 30,000
45,000

(As on 31st March, 2019)
Amount
Debit Balances
®
Debtors 5,000
Machinery 2,000
Closing Stock 6,000
Buildings 4,900
Wages 800
Salary 300
Sundry Expenses 1,000
Cost of Goods Sold 19,000
Cash 6,000
45,000
(A-25) P. T.O.

Adjustments :

Depreciation of Building at 10%, Provision for Bad debts at
10% on debtors, Debtors include ¥ 2,000 receivable from
Ajay and also creditors includeds ¥ 1,000 payable to Ajay.

TPRE—3

(UNIT—3)
WIRG-¥Ta T U4 -2 Tl & 99 fasman w9y |
T @I B B TIR BRAT T R R ?

Discuss the main characteristics of Receipts and Payments
Account and Income and Expenditure Account. Who

prepares these accounts and why ?

Rar
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(A-25)
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A company whose accounting year is the financial year,
purchased on 1st July, 2016, a machinery costing ¥ 45,000.
It purchased further machinery on 1Ist January, 2017,
costing ¥ 30,000 and on 1st October, 2017, costing
¥ 15,000.

On 1st April, 2018 one-third of the machinery which was
installed on 1st July, 2016, became obsolete and its was sold
for ¥ 5,000.

Show the Machinery Account in the books of the company,
it being given that the machinery was depreciated by the
fixed instalment method at 10% per annum
What will be the balance in Machinery Account on 1st April,
20197
TP
(UNIT—4)

1 31T, 2015 BT G0 & 3o HRYEH 4 IR T 31T T
T I (h PRgey fwErfeed g @ smR W osEm)

(A-25) P. T. 0.
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% 8,000 YU & I T fA Y @R 9@ 918 1 W W A
A @ forg T 8,000 BT e HAH foar T | afte A
# 4% =9 e B |

3 1 @ el F 3 W T U 4% W ¥ TwIH A
T 27751 B

IS Hrey (farsha) @ qRaat W uolr wfaftedt i |

On 1st April, 2015 Anuj Computers, Durg sold to Anil &
Sons, Raipur a computer on Hire Purchase system. ¥ 8,000
being paid on delivery and ¥ 8,000 in annual payments
thereafter on 1st April for 3 years. The annual payment
included the interest chargeable at 4%.

Present value of ¥ 1 per annum for 3 years at 4% is
T2.7751.

Show journal entries in the books of Anuj Computers
(Vendor).

Fromar

(Or)
YT W YEH b O S B § ¢ NP urar iR wdd
T # 3R WE BTy |

What are the objective having Branch Accounts ?
Distinguish between dependent branch and independent
branch.

TIR—5

(UNIT—S5)
WRIER! Hoid a7 § ? AERER Gdd & 3T H AR $
Teg I faaret @1 fFuerT foa yer faar s ?

What 1s Partnership Deed ? How the matters will be settled
among the partners in absence of partnership deed ?

(A-25)
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e ITH B @ fomed @1 Fiw fear wwREl @ @l |
(Or) fforiaa Rml g g8 -
XY @7 Z 6 B4 AERR € IR T2 2 0 1 F UM RiDE] % 42,500
# AM-EI @ S R 1 31 A, 2019 BT SAGT IRl TEWER % 7,500
fepeifener & - @ % 35,000
fergr fafer T e Z 18,500
(31 A, 2019 W) SFERY ¥ 2% 21 RAT| X WHR AT IR P aGH B B
N Ry TR T TN 39S fow X B T 00 R MU awgeh @
®) IS 29 T 950 TUI Th T 2,500 I FRIRT Sferlad ¢ | a5
CEEI 20,000 Y 7 T 2,000 § of o |
AT DI 25,000 ¥ BT GRIDT DI §8 P & oIy ATID T §18Y |
Epﬁ : N X, Y and Z are partners in a firm sharing profit and losses in
X 50,000 the ratio of 2 : 2 : 1. Their Balance Sheet as on 31st March,
Y 20,000 2019 1s as follows :
Z 10,000 80,000 Balance Sheet
1,25.000 (as on 31st March, 2019)
Amount
Liabilities ®
- R
® Creditors 20,000
e — 25.000 Reserve Fund 25,000
AR 2 20,000 Capital : 4
X 50,000
Thee] 25,000
Y 20,000
TEEET 10,000
- 7 10.000 80,000
T 45,000
1,25,000
1,25,000
(A-25) P. T. 0. (A-25)
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Assets Amount
®

Cash 25,000
Sundry Debtors 20,000
Stock 25,000
Typewriters 10,000
Plant 45,000
1,25,000

They decided to dissolve the firm. The following are the

amounts realised :

Plant T42,500
Typewriter T 7,500

Stock ¥35,000
Sundry Debtors 718,500

Creditors are allowed a discount of 2% and X is agreed to
bear all realisation expenses for this service. X is paid
T 600. Actual expenses amounted to ¥ 950. There is an
unrecorded asset of ¥ 2,500 which is taken over by Y at
¥ 2,000.

Prepare the necessary accounts to close the book of the firm.

D-3013 1,900

(A-25)
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